NAME CLASS DATE

Dividing by Powers of Ten

Decimal Point Placement
Divide 8.6 by 10; by 100; by 1,000. :
é.6 + 10 = 0.86 There is 1 zero in 10.

Move the decimal point 1 place
to the left.

08.6 + 100 = 0.086 There are 2 zeros in 100.
Move the decimal point 2 places
to the left.

008.6 + 1,000 = 0.0086 There are 3 zeros in 1,000.
Move the decimal point 3 places
to the left.

Divide 0.37 by 10; by 100; by 1,000.

0.37 + 10 = 0.037 Move the decimal point 1 place
to the left.

00.37 + 100 = 0.0037 Move the decimal point 2 places
to the left.

000.37 + 1,000 = 0.00037 Move the decimal point 3 places
to the left.

Choose the correct quotient.

1. 0.680 + 10 a. 6.8 b. 0.068 c. 0.0068 -
2. 3.5 + 100 a. 0.0035 b. 0.035 : c. 0.35 -
3. 0.6 + 1000 a. 0.0006 b. 0.06 c. 0.006 -

Divide each number by 10.

4. 45 = 53123 6.09_______ 7.003
8.702 ________ 9.0475__ 10.867 —__________ 11. 1.8
Divide each number by 100.

12.45 ____  13.3832___ 14,008 15. 0.328
16. 602 17,1835 18.59706 —_____ 19. 0.9573

Divide each number by 1,000.
20. 350 21. 4,500 22, 6.8
23. 0.921

24. Divide 23,000,000 by 1,000,000,000.




